North Trail Study Area Plan
Preliminary Scenario Workshop Polling Results

Oct. 5, 2015

This document includes polling results from the Oct. 5, 2015 preliminary scenario workshop.

Workshop participants were polled at the end of the workshop on questions related to the North Trail Study Area
(TSA) preliminary scenarios.

Results by Question

Where do you live?
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How many years have you been visiting OSMP
properties?
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What is your age?

12

10

8

6

4

| 1111
o m W

Lessthan 20to29 30to39 40to 49 50to 59 60 to 69
20




How well do you think Scenario 1 balances the
identified interests?
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Which of the identified interests are best addressed in Scenario 1?
(Choose as many as you like)
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Which, if any, of the identified interests is NOT well addressed in
Scenario 1? (Choose one)

12

=
o N B OO 00 O
[ [ [N N N

> |l

“ |l

T T T T T T - T T
Q > o Q > & & 2
(’;& y '5\'\\} {\Q’Qo g’g\é f—,‘)’zs Q’bo (\%Q oé\\\\ %fbo \\7}0@
(\(\e 5‘0 -\90 %Q/b (,C'Q’ ’8‘00 & o‘g Q(;\Q Q
S ¢ s 5?2 @ 8 3 NG S
O <« & & & S g Q &
@ R & N\ 3 K > > ¥ &
o < X o 2 52 & ©
N & > K & g s &€
\((\ o(\ \\Q/ A\ ’bQ éQ/ é & \(\
(@) O A 2 N
Q& Q)’b & Q QO
& N
How well do you think Scenario 2 balances the
identified interests?
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Which of the identified interests are best addressed in Scenario 2?
(Choose as many as you like)
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Which, if any, of the identified interests is NOT well addressed in
Scenario 2? (Choose one)
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How well do you think Scenario 3 balances the
identified interests?
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Which of the identified interests are best addressed in Scenario 3?
(Choose as many as you like)
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Which, if any, of the identified interests is NOT well addressed in
Scenario 3? (Choose one)

18
16 -
14 -
12 -
10
8 -
6 _
4 -
i
0 T T T T . T - T - T T T T
Q > > > Q & £ Q7 > >
N & > > 5 & & & = *
&0 K(@ &éo v;\°° ?/66 ,\oo 2’64\ &@ &\00 (\\0%
N S Y 0 S <9 & o <4 S
o) e < X C “
9 'OQ @b Q’é & \\\"’\ N & 6\) Q\
& & S & N R & & D o
@Q«o &e} \((\Q @ & Q\o“ & ‘{@o
N o > o) o <
O Q,'b\'b N \g\('
How well do you think Scenario 4 balances the
identified interests?
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Which of the identified interests are best addressed in Scenario 4?
(Choose as many as you like)
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Which, if any, of the identified interests is NOT well addressed in
Scenario 4? (Choose one)
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